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The bodily changes in an organism is attributed to

1. Growth

2. Development
3. Maturation
4. Learning readiness

2AS° OBE VoBOFTHS ST HJF SI00.

1. RS

2. JS°H0

3. pfolaclss

4. LIRS DHES

The cephalo-caudal changes in a child relates to

1 Heredity

2 Maturation
3. Growth
4

Development
8098 80R BB rHinvg SrE)eo BIS $02050DS
1 95050853
2. NN
3. RGO
4

JZ°N0



Qualitative change is

1. Heredity

2. Growth

3. Process

4. Development

ROETS IS SE0)
1. 9 DI0BES
2. PEOE
3. W&o

4. Q00

This stage is also called as Pre-school Age

1. Infant stage

2. Baby hood

3. Early childhood
4. Late childhood

TEFETO 5T 0 s S5 HEHH
L S5 859 &F
2. 3¥SG¥

3. ooy

4 &8 wrogsy



According to Piaget’s cognitive theory the stage in which
children develop the concept of object permanence is

1. Sensory Motor stage

2 Pre operational stage

3. Concrete operational stage
4 Formal operational stage

DOITF ORI S DETOB0 (D570 TNPIEETSS NG
(oL}

1 30(QATOE ¥

2. STl ¥

3. Srgpares oF

4, osrgpores §¥

A person’s thinking, reasoning and competency processes
plays an important role in moral development — This was
stated by this Psychologist

1. Piaget
2 Chomsky
3. Vygotsky
4 Kohlberg

368 e8°SS, IDESS, HYS 508 (HldcHen B 5o
PGS STLRCD DEYY) HS eI TGIE
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Name the Psychologist who proposed language acquisition

theory
1.

2
3.
4

Piaget

Carl Rogers
Chomsky
Vygotsky

2L ([es DTS’ B (SO0 HI'VES TLIY

1

2
3.
4
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Individual’s development is the result of his interactions with
social environment — This is stated by

1.

Sl

Freud
Erikson

Bruner

Skinner

558 IS0 @S BS FoE DOVOS BEHHI DB
565@ DOBE0D BODS L

1

2
3.
4

\Froné&
JOER
leasE
?ozr:\ag



10.

The IQ of idiots is

1.

2.
3.
4.

<25

between 26 — 49
between 50 — 70
between 70 — 89

3057600 (Pered)

1.
2.
3.
4.

25 ©0¢8 557 S8
26 — 49 © &g
50— 70 © &g
70 — 89 © &S

Individual's ability to understand his own strengths and
weaknesses is known as

1.

2
3.
4

Level of aspiration
Achievement motivation
Performance

Self-concept

358 83 perom, 203PSBDS) K80D) VeSS Y50
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11.

12.

‘Persona’ is derived from this language
1. Greek

2. German
3. Latin

4. French

DENT @R D0 B RS’ D& GADSH
L d®
2. E~To] &i)
3. o8
4. (@0
The method which is highly objective is
1. Observation

Introspection

2.
3. Case study
4.

Experimental method
808 DEHOS JH) S SIS Kobd
1L %830
2 90¢5:3080:S
3. ;5§_§° VAT DS
4 WK DS
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13.

14.

The most important process that happens in an organism

throughout it's life

1.
2.
3.
4.

Motivation
Learning
Movement

Growth

22" BDeroso BOR ©S0s (PS50 Ko (HIEaH

1

2
3.
4

(a5e
@2;5526:60
WOS0
PERE

Individual's motivation is related to the following

1.

2
3.
4

Development

Needs
Growth

Maturation

368 (0es OIS 500896 &0e008

1

2
3.
4
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15.

16.

Name the author of the book, “Animal Intelligence -
Experimental Studies”

1. Pavlov

2 Skinner

3. Thorndike
4 Kohler

“Animal Intelligence - Experimental Studies” e (K0
BeSanods

1 PSS
2. 6

3.  o§)gf
4 §%reb

In Pavlov’s experiment, the Bell sound after conditioning is

called as

1. Natural stimulus

2. Conditioned stimulus
3. Conditioned response
4. Natural response

TS’ DS (HErK0S” J0ES (HEAHL BYES ST
Ko %fgo

1 e GEIS

2 Q20RS GEHS

3. Q22088 @e‘:mo)ocss

4 DTz (DEY0LS



17.

18.

The Psychologist who developed ‘Programmed Learning’ is
1. Thorndike

2. Pavlov

3. Skinner

4. Bandura

TEESA0S IR EPFOBODS DHIILS TIIE
L §)gf
2. >SS
3. 6
4. 2088

The Psychologist who proposed that the language plays an
important role in cognitive development is

1. Hurlock
2 Bandura
3. Kohler

4 Vygotsky

2O epT S S AT AR S0PgRES FAN0ESD
(BT BODS DI 2pS TG
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2. 20LE°0P
3. §2rob
4. PR,



19.

20.

A student is working hard to achieve his father's target of
getting 10 points in SSC examinations. This is an example
for

1. Intrinsic motivation

2 Extrinsic motivation

3. Achievement motivation
4 Social motivation

2.5 Y S SolG AJBODS 10 Fox0ey SSC H85S°
QORI S SEYPH0E, b B eorde

1 OB (D53
N

2 220868 (D8e
N

3. FES (253

4 FoWE (253

The learning and experiences are stored in the brain by an
individual for a period is called

1. Memory

2 Retention

3. Recall

4 Recognition

358 SRS INATOK, VPYFTOH DS Fosseo
QenHESER,
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When the memory traces in the individual’s brain gets
distorted the result is

1. Memory
2 Forgetting
3. Retention
4

Interference
568 085S BBVTHY e I AEED
1 é&)@
2 Z)é&)@
3. [ovletar)
4 e9:58%50

A person who can read and write Telugu trying to learn
Kannada - the transfer of learning here is

1. Positive transfer

2 Negative transfer
3. Bilateral transfer
4

Zero transfer

BK) O°PANEO, WESE0 BODS :,55_% §26°)C§ O
3&3&3@@@ 2381 GO 2T
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Learning disability in writing is
1. Dislexia

2. Disphasia

3. Disgraphia

4. Discalculia

o°a0E0” 922)08R AHEYS @B PLogo
1.
2.
3. ASThor
4.

Bruner introduced a learning method called

1. Motor learning

2. Perceptual learning

3. Problem-solving learning
4. Discovery learning

20758 (SBTBHODS IS A0
1. WOS @2;5526:60

2 @e‘é&% @2;5526:60

3. 635531’5 Nlehy e @225570:60
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Assessment of project work done by students belongs to this
type of evaluation

1. Summative
2 Formative

3. Qualitative
4

Quantitative

dergsaen BIE (BY 0 HBOY B+ Sorergosa 8508
D02200H0VISH

1 QOITeT &) 8
2 b@&mégﬁ
3. ?be?é@ﬁ

4 DB SoeeTOS &§

The weightages given in CCE to Summative and Formative
evaluations respectively are

1. 80% marks — 20% marks
2 50% marks — 20% marks
3. 20% marks — 80% marks
4 25% marks — 75% marks

CCE & S0amemds )& 550050 oeTd ¥ SoremjosT o
RS 8,0 (5300

1 80% =S55°E0).00 - 20% S5°80) &0
2 50% S3°&0) 00 - 50% So°Eo) 0
3. 20% 33800 - 80% S55°80) &0
4 25% S33°8o) 00 - 75% 378 e



27.

28.

According to Kohler an individual’s organized understanding
of different elements in a situation is

1. Conditioning
2 Trial and error

3. Insight

4 Imitation

358 S30F) $0PAS wores IEHRE)S0 BWED
HeroseeR) §72r8 gor &) a8

1 Q200

2 O0E)-G"20
3. ©os58
4 DETE

The Psychologist who used Bobo dolls in his studies in
learning is

1. Bandura
2 Skinner
3. Pavlov

4 Vygotsky

BIGROS BB’ '8 &S viohare S
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29.

30.

Secondary Education is concerned to
1. Class 1 to 5

2. Class 6 to 10

3. Class 1 to 10

4. Class 6 to 12

r){olete) 33655’ Bs SEKHOE H022000DIO

1. 1 3008 535 SBKBITE

2. 6 o0& 103 STKAIEE
3. 1 3008 105 SEXBSEH
4. 6 o0& 1235 STHAITE

The Psychologist who discussed about “Instructional
Scaffolding” is

1. Piaget
2 Vygotsky
3. Bandura
4

Bruner
“Instructional Scaffolding” %>80D $8Y00S FRI
L a3
2. PR,
3. 20LE0P
4.  @rss
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61.

62.

63.

Tyagaraja set out on a pilgrimage.

Choose the meaning of the word ‘pilgrimage’.

1.

2
3.
4

A movement against poverty.
A work to do in fields.

A place to sleep peacefully.
A journey to a holy place.

Choose the word that refers to ‘a number of people listening
to a concert or lecture’:

1.

2
3.
4

Board
Audience
Crowd

Troupe

Choose the word with a ‘suffix.’

Lol

Kingdom
King
Knight
Kite



64.

65.

66.

Choose the word with correct spelling.

1. Sneze
2. Cease
3. Screem
4. Bable

Choose the word that can be used as a noun and a verb.

1. Historic
2. Written
3. Favourite
4. Design

Challenges in our lives strengthen over convictions.

Choose the antonym of the word ‘strengthen.’

1. Encourage
2 Driven

3. Sharpen

4 Weaken



67.

68.

69.

The M.L.A came forward to help the poor.

Identify the meaning of ‘came forward.’

1.

2
3.
4

Searched
Volunteered
Thought
Declared

He may not have stolen the pen.

This sentence indicates;

1. doubt

2 certainty

3. ability

4 purpose

Valmiki’s ............ Ramayana is a sacred book.

Choose the article that fits the context.

1.

2
3.
4

a
an
the

No article is needed.



70.

71.

72.

She is always bad ............... languages.

Choose the correct preposition that fits the context.

1.

2
3.
4

in
with
at

on

Choose the sentence that has a defining relative clause.

Lol

I know who you are.

Ramu who is on the road is my friend.
He said that he was busy.

Who is your elder brother ?

I would like to see that book.

This sentence indicates;

1.

2
3.
4

a wish
an obligation
a moral obligation

an offer



73.

74.

75.

Rohit is on the list.

Choose the correct question tag for this sentence.

1. is Rohit ?
2 isn’t Rohit ?
3. isn’t he ?
4

doesn’t he ?

Who did Gopi marry

This sentence ends with;

1. a question mark.

2 a full stop.

3. a comma.

4 an exclamatory mark.

“The boy is a fool,” said the gentleman.

Choose the reported speech of this sentence.

1. The boy said the gentleman is a fool.

2 The boy said that the gentleman was a fool.
3. The boy asked the gentleman not to be a fool.
4 The gentleman said that the boy was a fool.



‘The Arabian Nights’ ............... a popular book.
Choose the correct form of verb that fits the blank.

1. have

2 are

3. 1s

4 will

| T Mumbai six times in 2015.

Choose the correct tense form that fits the blank.

1. visit

2. visits

3. visited

4. have visited

What are these fabrics ?

The part of speech of the word ‘these’ is;

1. a pronoun

2 an adjective
3. a preposition
4

a conjunction



79.

80.

8l1.

82.

Choose the linker that indicates sequence in time.

1. Meanwhile

2. To sum up
3. Likewise
4, So

Choose the coordinate conjunction from the following.

1. as soon as

either ..... or

as long as

Choose the grammatically correct sentence.

1. The stranger entered into the room.
2. The stranger entered in the room.
3. The stranger entered the room.

4. The stranger entered to the room.

Choose the correctly punctuated sentence.

1. What is it, amma said the girl.

2. What is it ? amma ?, said the girl.
3. What is it, amma ? said the girl.
4. “What is it, amma ?” said the girl.



83.

&4.

85.

86.

Choose the sentence in passive voice.

1. I don’t know where he lives.

2. He was born to Venkatachalamaiah and Varalakshmi.
3. Peraiah Sastry inspired him.

4. Satyam was interested in nothing.

Tejais ........... boy in the class.

Choose the grammatically correct expression that fits the
context.

1. the tallest
2 the taller than
3. taller than
4

as tall as

In a personal letter we find the phrase ‘with love’ in;

1. The body

2. The heading.
3. The opening
4. The closing

Choose the correct list of words with alphabetical order.

1. cool, cools, cooled, cooling
2 cooled, cool, cools, cooling
3. cool, cooled, cooling, cools
4 cooling, cools, cool, cooled



87.

88.

&9.

He got reputation after winning that match.

Choose the synonym of the word ‘reputation.’

1. Celebration

2 Popularity

3. Morality

4 Sensation

I am amazed ............... you, Victoria.

Choose the correct preposition that fits the blank.

1.

2
3.
4

of
with

at

Read the following passage and choose the correct
answer to the question.

Socrates was the evangelist of clear thinking. He went about
the streets of Athens preaching logic — just as 400 years later
Jesus would go about the villages of Palestine preaching love.
And like Jesus without ever writing down a word, he
exercised an influence over the minds of men that a library of
books could not surpass.

Socrates preached;

1.

2
3.
4

about library books
about Jesus
about Athens

about logic and clear thinking



90.

Read the following passage and choose the correct
answer to the question.

Socrates was the evangelist of clear thinking. He went about
the streets of Athens preaching logic — just as 400 years later
Jesus would go about the villages of Palestine preaching love.
And like Jesus without ever writing down a word, he
exercised an influence over the minds of men that a library of
books could not surpass.

Socrates and Jesus;
1. had influence over the minds of men
were born in Athens

2
3. preached logic in the streets of Palestine
4

preached love in Athens



91.

92.

93.

If log (x—9) + logx =1 then the value of x is
10 10

log (x=9) + 108X _ 1 40505 x Dewss

10 10
1 0
2. 1
3. 5
4. 10

If \/_ = (.2 then the value of x% is

Jx = 0.2 oS 12 Do

1. 0.008
2 0.08
3. 0.06
4 0.8

If A={1,4,6}, B={3,6}, C={3,4,5}then A n (BUC()
is

A={1,4,6}, B={3,6}, C={3,4,5} ®ans A n (BuC)
1. {1,3,4,5, 6}

2 {3,4,5,6}
3. {4, 6}

4 {1, 4, 6}



94.

95.

96.

The smallest number that is exactly divisible by 12, 14 and 18
on adding 5 to it is

Be SAZ00PEEH 5 K Fodre 12, 14 $HBcso 18 03 :o‘égaom
2TPR 03238500

1. 245
2 247
3. 252
4 257

The perimeter of a triangle with vertices (0, 4) (0, 0) and
(3,0)1s

(0, 4) (0, 0) 5805 (3, 0) DocsoHen oreor SOAS (@eoz
SoepFes

. 5
2. 7+45
3.0 11
4. 12

P(-5, 7) and Q(3, —11) are end points of the diameter of a
circle then the centre is

P(-5, 7) 08050 Q(3, —11) ev a8 ;539—55 s"g‘(vo B, @:90955
DOHIBS &8 I)B oo

. (-1,-2)
2. (1,-2)
3. (-1,2)
4. (1,2)



97.

98.

12 solid spheres of same size are melted to make a cylinder of
base 2cm and height 16cm, then the diameter of each sphere

is, (in cm)

2.8 DBSE0 Ko 12 508 A¥S0oH S8R0 2 0.20.
FETGO0 $00A 16 0.0, Iy SOAS BFDom SoodS
(©& F°¥0 @Yy, TR0 20.20.08°

1. 6
2 4
3. 3
4 2

The area of a parallelogram is 60 cm” and one of it’s altitude

is Scm then the length of its corresponding side is (in cms)

DIFOSY SRS Boo¥) PErego 60 cm’ HBAH
2.8 A8 5 00.20. oS TP eS8 gheo PED
(30.2.08%)

.12
2. 6
3. 4
4, 2



99.  If one root of the quadratic equation 3x* + Kx — 3 = 0 is %

then the value of ‘K’ is
58 ¥80 3x° + Kx -3 =0 &o¥y 25 oo %

900S ‘K’ denss

1. 7
2 8
3. 9
4 10

100. The smallest square number that is divisible by 4, 9 and 10 is

4,9 58050 10 ©F 2eR0S2% 9 DY) 3G Doy

l. 360
2 900
3. 1800
4 3600

101. 35" term of an Arithmetic Progression is 69 then the sum of

first 69 terms is

©0EEFES® 355 D0 69 ©0S S 69 HESINO INSO

1. 2380.5
2 4671
3. 4761
4 9522



102.

103.

If x \f f = \/§+\/§ then the value of
NN RN S
x +Xxy + y
BB e
= ——— oI X txyty e
BTN )
1. 98
2. 99
3. 4046
4. 99+40+/6

A factory required 42 machines to produce a given number of
articles in 63 days then the number of machines required to

produce the same number of articles in 54 days is

2.5 50°)mE0S° 3RS S0 63 8o’ &$)d
VO 42 CHO(EPE BSIEIS @S SPOS> 54
SleroS’ &&)8 Dainw VSHEHE Aol Vovs

l. 81
2 54
3. 49
4 36



104. A man get an increase of 10% on his salary. If his new salary

105.

is Rs.1,54,000 then his salary before enhancement is
(in Rupees)

2.E 502 ¢85 Beso 10% SHBBosn FodS Bes0
o 1,54,000 900085 SIBTOEE $2085H 9SS oS 2¢50
(Srnes®)

1. 1,38,000
2 1,40,000
3. 1,04,000
4 1,69,400

A number is selected at random from the first 50 natural

numbers then the probability that it is composite number is

06583 50 STz D0pge o0& ATERNEON 2.5 Doy
AINTATYE &5 Hopg VO Hopg ey VOLTSIS
4

25

8

25

17

25

21
25

1.



106.

107.

If the probability of an event is ‘P’ then the probability of its

complementary event will be

28 D& BoY) “602,7"5593 ‘P’ 90008 TP P88 D088

éoey;ﬁ§e§
1. P-1
2. P
1
3. —
P
4. 1-P
More More More More More More
than or | thanor | thanor | thanor | thanor | than or
Marks equal | equal | equal | equal | equal | equal
obtained | 4,0 | t010 | 020 | t030 | tod40 | to50
FOBS | 08> | 108> | 208> | 308> | 408> |50 8
T8 &0 SOSET) | ©OSET) | WOSET) | VOSET) | OSETY | BOSET
Q§>2I;5 Q§>2I;S Q§>2I;S Q§>2I;S Q§>2I;S Q§>2I;S
No.of g | sg | 55 | 51 | 48 | 42
students

The frequency of the class 3040 is
3040 S5K& 3"&5:@:‘650

l. 3
2 4
3. 48
4 51




108.

109.

The mean of 10 observations was calculated as 40. It was
detected on rechecking that the value of 45 was wrongly

copied as 15 then the correct mean is

10 983050 DK 40 ™ BY) 0SEIS. PIHBOSS’
45 &3 DeIH He 15 M SIPPSeR HOSEIE.
QNS BB DKW

1. 46
2 45
3. 44
4 43
If Cosec O = % then the value of Sin? 0.Cos 0 is

Cosec 0 = l 9005 Sin® 0.Cos 0 Jens

3

0w Alw L‘& Oo‘&



110. Length of the shadow of a 15m high pole is 53 meters at

111.

7 AM in the morning then the angle of elevation of the sun

rays with the ground at the same time is

¢G5050 7 Kono 15 Qon deiye 5080 Bn¥). A& FEI

53 90085 @98 H505508° XrE8sETey Grud® IR

éagsé"smo
1. 30°
2 45°
3. 60°
4 90°

The quadrilateral with equal diagonals is

1.

2
3.
4

Rhombus
Parallelogram
Rectangle

Trapezium

308 TV Egren DIPSOM Ko SSSymo

1.

2
3.
4

é;SoiSeﬁodJ?Dwo
PONSloTx Yo zﬁeﬁocﬁ?}wo
B8 530

o))
D002 zﬁe.“gocig)wo



112.

113.

The diagonals AC, BD of a trapezium ABCD intersect each
other at the point ‘O’ and AB || DC. If AB = 2CD then the

ratio of areas of AAOB and ACOD is

(B>8a0 ABCD §° AB || DC 5865 AC, BD sge»
‘0’ 5& POGOHEI. AB =2CD eans AAOB $08a5
ACOD Fwergo dng

1.

2
3.
4

1:4
4:1
1:2
2:1

One of the angle of a rhombus is a right angle then it is a

1.

2
3.
4

Rectangle
Square
Parallelogram

Trapezium

0% IEW)0S” 2.8 60 00w PN @b

1.

2
3.
4

BE 530

[eS))

WSAOB(00

PONSloTx Yo 75&“936)2)230
D002 75&“936)2)230



114. The area of a sector whose radius is 3.5 cm. with an angle 77
is (in cm?)
3.5 0.2, TGPYO 3085 727 %630 SRS DKW FTO50
(3.20.20. ©8°%)

1. 7.7
2 7

3. 15.4
4 77



115.

116.

One of the following is more popular as ‘Ramanjan Number’

808 AS° “orsrioES 205" M (DRSSY

1. 1292
2 1729
3. 1972
4 1792

This educationist has given hierarchy to the objectives of

“Psychomotor domain”

1. B.S. Bloom

2. L.W. Andarson

3. D.R. Krattwohl

4. Eligebeth Simpson

SONESIS 735@5%3&§ BORIN" S5 BoAS QJ§535330§3
ODESEIED ErFoBoNS TGRS

L D.008. a3

2. 956%.6065‘(@5
3. &ebizdad

4 ORBS VO



117. The characteristic feature that does not belong to “Inductive

Method” is

1. Concrete to Abstract

2 Hypothesis to Conclusion
3. Example to Principle
4

Specific to General
SH5S DEBE BoEA ©FEasw

L. 05850 006 93050008

2 SSP0F0 O FPT°0FZNISK

3. &TrSe $08 $Eedd

4. |9BgErodo S00d Frrserords

118. This provides more learning as per Edgardale’s cone of
experience

1. Dramatic Experiences
2. Visual symbols
3. Direct purposeful experience

4. Verbal symbols

AEES wETo Yo PSS 38 SRS
92IGOT 0 EeoXBa3nH

1. oeds8e ez

2 &Y% Dossren

3. PEgE PRras egiae
4

%@§ DoBaeen



119.

120.

The reason for forming Accuracy in problem solving is

1. Lack of clarity in thinking of child
2 Lack of proper written work

3. Having computational skills
4

Lack of answer verification habit

R8%g Je55S° PSSO LOSEEIS Ko S0

[E—

AgR SIS DR TEFsEo
ToSHD DO BEFS0

Keass Feagen SOR&06E0

233720 VOUTOES oTen BEFSEOo

Lol

The Academic standard to be tested through the following test item.

“Write the numbers -3, -7, 0, 4, -2 in ascending order”

l. Representation — Visualisation
2 Communication

3. Connection

4 Reasoning — Proof

“3, 7,0, 4, 2 DopgoiH 8 eSS 0°aHos”,
BT H8Z0BESODS Iorgdreso

1. @“@?0(‘.55 DL - CSO)%?S§C5€:;

2 ;Sagg‘édazﬁoéo

3. £9:30:005°S0

4 SPTETD BIPE - ABTDeren FA50E



121. The electric device that does not contain “Nichrome” wire as
filament

1. Electric bulb

2. Electric heater
3. Electric Iron
4.

Electric cooker

"AETR” B OIS EOR &OED IgS HO5YO

1 0§§ o)

2. JoEE b
3. J0&E 32y
4. o35 056

122. This planet is also called as “Red planet”

1. Sun

2 Venus
3. Mars
4 Jupiter

“@HeiT0” @ e DeosSad (Kro

1. wdo?scéo
2 HEE
3. ST e

4

zaq)ﬁéo)@



123. For a freely falling body, the energy possessed by it in its path
is

1. Only potential energy
2. Only kinetic energy

3. Potential energy increases while kinetic energy
decreases

4. Potential energy decreases while kinetic energy
increases

TYRES 529 2R B $gos” oIDT ¥
1 DBIE S
@ -0
2. KO¥E S
3. 2B WIS, KB SKHSE> &otnod
4

—0

?g@%’é SHHET, KHIE DEKHST &0ewod

—° N

124. A pair of physical quantities which has same units

1. Velocity, Acceleration

2 Acceleration, Momentum
3. Momentum, Impulse

4 Impulse, Velocity

808 ;S 2.8 (PIreren SOAS FHE DO w3

1 K0, & 5e20

2 & 5e30, @53553?io
3. 8s§RKo, St
4 ®$S°ss0, K0



125.

126.

Amount of energy transferred when 1 gm. of water at 50°C
reaches to water at 0°C is (in cal)

(Specific heat of water = 1 cal/gm°C)

50°C 58 &) 1 (S0 A 0°C 38% J8eA8 269
SEODS &R0 (Bodos®)

(V3 830 = 1 cal/gm°C)

l. 1
2 10
3. 50
4 100

Characteristics of image formed by a concave mirror when
the object is placed in between focus and centre of curvature
1. Real, Inverted, Magnified

2 Real, Inverted, diminished

3. Virtual, Inverted, Magnified

4 Virtual, Inverted, diminished

DETSY Sy TP $00A0 SESFolEo S 599
GEODSYLE G (98Doey vFeTed

L Jz, S08otHPs, HPE)S

2. Jz, S0E0MHTS, Foors)s

3. 5y S08otBs, SRS

4. g So\80tBS, FoorE)s



127. The gas that is evolved when sodium hydrogen carbonate is
treated with hydrochloric acid

1. Oxygen

2 Hydrogen

3. Carbon dioxide
4

Carbon monoxide

FE0500 SRS TENIES” TS TOTH0 STEdRSY)e

F0SE TS0

1 wé&ws

2 TE S

3.  SUR@eE)E
4 SHSITTZE

128. Non metal present in gun powder is
1. Phosphorus
2 Carbon
3. lodine
4 Sulphur

KSEES® Ko e s
1 3%365
2 SN
3. OBTES
4 é@q)g



129.

130.

An example for colloidal solution among the following is
1. Milk + Water

2. Chalk powder + Water

3. Sugar + Water

4. Salt + Water

808 TS’ Feransd (T5eTds ST

1 oo + A

2. ZS0HFE + A
3. ST + A

4. &Y+ A

One of the following is added to water to kill disease causing
organisms present in water

1. Oxygen

2 Carbon dioxide

3. Carbon monoxide
4 Chlorine

DS K T8> SOR0D wgéé@om 350958 De3d
EONIODSE

1 wé&ws

2 SN

3. YW IrTFY)E

4 SN



131. One of the following is called as ‘Liquid Gold’
1. Diesel
2. Petrol
3. Coal tar
4. Petroleum

208 TAS° (S 2OME0 T DeIEE

1 &as

2. 2SS

3. S

4. SO0

132. The method used to separate dissolved substances from a
liquid is
1. Decantation
2 Sedimentation
3. Filtration
4 Crystallization

2.5 (5508° SOA &) DT SHTA0LE ©HHO0S

‘JDCQS@

1 Celeplete

2 B39

3. SEPes

4 éo)e%§§deao



133.

134.

The process of separation of cotton wool from cotton seeds is
1. Knitting

2 Shearing
3. Spinning
4

Ginning

DBR0O $H0D EIO) IHTFW (PEAD
1. QoA
2. 2%oR
3. ?oo)ig)oﬁ
4, ﬁb&oﬁ

The correct statement with reference to food chain and food
web is

1. Food chain is the part of food web
2 Food web is the part of food chain
3. Food chain and food web are the same
4

There is no relation between the two

5385 Alendy, &85 oI 90220809 08 IS
DOBDISE

1 5385 Kooy e85 wrosos® erKo

2 e85 %0 e85 Aeows® arKo

3. 35385 APendy, e85 wres0 28ES

4 BoA0e3d 102008550 B



135.

136.

One of the following prevents constipation

1. Proteins
2. Fats

3. Fibres

4. Vitamins

300 &S DI ATV
1. SPODEYBoen

2. (9 voge

3.0 o doge

4 DeIASe

A student wished to know different stages of ‘production of
woolen fabrics’ and visited that centre. But, he missed to see

first two stages. Those are
1. Shearing, Knitting
2 Dyeing, Knitting

3. Shearing, Scouring
4 Sorting, Bleaching

25 AGY &) SASTEST) S¥050 BeE T 0SED &

0578 FolERE Fwm)d. SR Fesed Bokd ST
SrEBEP AT, @

L 280F, dgok
2. @owohk, Yok
3. 200f, ¥ 0ok
4. >Qok, HAoK



137. Cotton cultivators are showing interest to cultivate B.T.
Cotton variety. B.T. means

1. Bacillus thuringiensis

2. Bacillus tobacum

3. Bacteria tricoderma

4. Bacteria tobacum

©g Soen B.T. (38 85°) D0&OWEE gRdeodoIn .
B.T. eoSn

1 2POYR BIVOBIVD

2 2PRYD SrED

3. wrgdair \B8Goy

4 wé@oﬁr P2 ERD

138. Certain plant and animal species are restricted to a particular
area. They are called as

1. Endangered species

2 Endemic species

3. Invasive Alien species
4 Native Alien species

2.8 (PBFEDS (0B DOWEP &0t §°R) Sy§ SOk
20 PO JU© WOETSD.

I doZozb aresben

2 A0EWE wretven

3. V8 esEoey eesoen

4. B8R oEHe e



139. ‘Montreal protocol’ refers to
1. Oxygen demand
2. Carbon cycle
3. Natural disasters
4.

Ozone layer protection

‘S0 BHS (PSS B $02300ISE

1 w%&&g &sro&

2 ) S0

3. (350 Fdorgen
4. LEIFPT Dose

140. The best practice used in agriculture to prevent water wastage

is

1. Pond irrigation

2 Drip irrigation
3. Irrigation
4

Sprinkler irrigation

ISP 008° A IR ©BEREIE GIBTAOT B0
(BErESEE D8

L Fod 5o

2 Dot esgo
3. g

4 EH0DY g0



141.

The correct statement regarding blood group determination

1.

ojsN1e]

- AN

1.

If agglutination takes place with Anti ‘A’ but not with
Anti ‘B’, it is ‘A’ group blood

If agglutination takes place with Anti ‘A’ but not with
Anti ‘B’, it is ‘B’ group blood

If agglutination takes place with Anti ‘A’ and Anti ‘B’,
itis ‘O’ group blood

If agglutination does not take place with Anti ‘A’ and
Anti ‘B’, it is ‘AB’ group blood

NTREE% DO JBBFXS (FIWSO

Anti ‘A’ &° K>$3)86e20 20R, Anti ‘B’ &° Kow3)85Ea0
BOREFS 0d ‘A’ Sg5E0

Anti ‘A’ &° Kx$3)86e20 20R, Anti ‘B’ &° Ko3)85ea0
BOREFS b ‘B’ SEB50

Anti ‘A’ 508050 Anti ‘B’ &° Kow3)85Ea0 BORB 9O
‘0’ 55550

Anti ‘A’ $8c5» Anti ‘B’ o&° Kow3)E5Ea0 BEKENFD
B ‘AB’ 55550



142. This part of brain is centre for certain emotions such as anger,
happiness etc.

1. Medulla

2 Diencephalon
3. Cerebellum

4 Mid brain

05ES°D B2 grKo 8590, D08t erodd aPSSESOSmeﬁo
So(go

1. zéozg:iuoano

2 cszgdfisgo

3. 0300

4 353555336:5&33

143. Malphigian tubules are excretory organs in
1. Earthworm
2 Housefly
3. Flatworm
4 Star fish

SRS Teres JFTHAHIT e SOAS £

1. RN FUNCY

2. R

3. zag‘@civ?{a

4, DS0(E SFEo



144. The part of male reproductive system that produces the sperm
cells

1. Vasa deferentia
2 Epididymis

3. Prostate gland
4

Testis

DDA PSS SEHS” DELETO® &SI a0
1 HETraeEen

2. EEDS

3 DAL

4. Soowy o



145.

In the year 1964, the affective domain was classified by

1.

2
3.
4

Benjman S. Bloom
David Krathwohl
Elizebath Simpson
R. H. Dave

19645 éo;seﬁ(\)csoess SSRE ST S Sormd)
;5/8\§60£)55°63

1

2
3.
4

ZoRDHS . BT
@& (S 3¢S
ORBS ?ooZa‘\)S_
e38. TS, 53



146.

147.

In 1992 National Advisory Committee has suggested to
include this area in secondary school curriculum

1. Adolescence Education
2 Peace Education

3. Information Technology
4 Health Education

19928° 25> VO H00 Bs ©0FY) WE0EE FITe
58%5008° Bom)od JrA0N0A,

1 [Shinbrle] g)CS?S

2 Cidel ] 3)655

3. VSoPTeS POTHES

4 6365?i§ desg

To teach the topic “Measurement of time” in project method
the type of project that can be used is

1. Display Project

2 Verification Project
3. Investigatory Project
4

Constructivistic Project

(BEO)T HEBSE’ ‘TerR) FoSE0’ ¥R W0 F'POSHED
GIBCRIC (B T8I

1 S (B

2. dEee (FEY

3. edpler (B

4 AT ETSE (TR



148.

149.

These plants can be grown in Vivarium

1. Cycas, Pinus

2 Opuntia, Acacia

3. Moss, Fern

4 Hydrilla, Vallisnaria

SI00508° Bs F0K 03> DOSIE)

1.

2. 2,205, 98N

3. %, 2§

4. (Ger, OTIBATT

-,
b ™

When a base falls into the eye, at first, the eye has to be
dipped and opened with plenty of water and then, it is to be
cleaned with the following substance also

1. Sodium Bicarbonate
2. Dilute Boric acid

3. Silver Nitrate

4. Glycerin

50838° 8 DY HETY)E 00 0B IS ABS’
S000, BETD, &5 ST HeITY) (o8 FI A0S
SOPINS® S 03 BHlgo BArd

FEH0 PSENIES

1.
2.
3. 26 3BS
4.



150. The unnatural behaviour shown by a student in certain
situation can be recorded in a descriptive manner by the
teacher in this record

1. Communicative record
2 Progress report

3. Biography

4 Anecdotal record

2.5 DY 2.8 I S ST TTEd (PITSDH
EFEYO50E SEISYEO SIPEHBD DS JO° @O
L 00D H@esd
2 DR 3B

3. AASSO\S

4. &DPGS 05D



